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booklet and fill up the general information in the O.M.R. Answer sheet. If you fail to fill up the details in the form
of alphabet and signs as instructed, you will be personally responsible for consequences arising during
scoring of your Answer Sheet.
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Candidate can carry the question booklet and the candidate copy of the O.M.R. Sheet.
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If a candidate is found committing malpractice, such a candidate shall not be considered for admission
to the course and action against such candidate will be taken as per rules)

INSTRUCTIONS TO FILL UP THE O.M.R. SHEET

. There is only one most appropriate/correct answer for each guestion.

For each question, only one circle must be darkened with BLUE or BLACK ball point pen only. Do not try to
alter it.

Circle should be darkened completely so that the alphabet inside it is not visible.
Do not make any stray marks on O.M.R. Sheet.




1)

2)

3)

4)

5)

PART - A

This part shall contains 50 Multiple Choice/Objective type questions, each
question carries One Mark. [50 x 1 =50]

Which one is not a fibrous protein?
(A) Globulin (B) Collagen
(C) Keratin (D) Actin

Raffinose is

(A) Disaccharide
(B) Monosaccharide
(C) Trisaccharide
(D) None of these

Complete hydrolysis of cellulose gives

(A) D-Fructose (B) D-Ribose
(C) D-Glucose (D) L-Glucose
Insulin is

(A) Protein (B) Carbohydrate
(C) Lipid (D) Amino acid

Which amino acid has immidazole ring?
(A) Alanine (B) Leucine

(C) Histadine (D) Tyrosine

M-5269 =92



6) Proteins when heated with conc. Nitric acid give yellow color. This is
(A) Hoppe’s test (B) Acid base test

(C) Biurettest (D) Xanthoprotic test

7) Gene is a segment of
(A) DNA (B) Protein
(C) m-RNA (D) r-RNA

8) Which of the following is a peptide hormone
(A) Glucogan (B) Testosterone

(C) Tyroxin (D) Adrenaline

9)  Which base is present in RNA and not in DNA
(A) Guanine (B) Cytosine

(C) Uracil (D) Thymine

10) B-oxidation of fatty acids occurs in
(A) Peroxisomes (B) Mitochondria

(C) Cytosol (D) Allofthem

11) The degree of unsaturation in lipids was determined by
(A) Saphonification value (B) Iodine number

(C) Peroxide value (D) None of these
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12)

13)

14)

15)

16)

17)

Which of the following statements is wrong?
(A) Cellulose is polysaccharide

(B) Uracil is pyrimidine

(C) Alanine is sulphur containing amino acid

(D) Sucrose is disaccharide

Transpiration ratio of which of the following plants is observed to be the
minimum?

(A) C3 plants (B) C4 plants

(€) Trces (D) CAM plants

How many water molecules are required to generate one O, in the light reaction
of photosynthesis?

(A) 1 (B)
(€ 3 (D)

£~ V]

In which of the following reaction/cycle/pathway partial oxidation of glucose
takes place :

(A) Reductive pentose phosphate pathway
(B) Aerobic respiration

(C) Citric acid cycle

(D) Oxidative pentose p.hosphate pathway

The form of Iron transported across the plasma membrane of plant roots is
(A) Fe-chelate (B) Ee
(C) Fe** (D) Fe** and Fe*

Deoxygenated blood is carried in
(A) Pulmonary artery (B) Pulmonary vein
(C) Caratoid artery (D) Arota
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18) Brunner’s gland are found in
(A) Stomach (B) Ileum
(C) Duodenum (D) Rumen

19) Concentration of the urine is controlled by

(A) MSH (B) ADH

(C) Oxytocin (D) ACTH

20) Chemical signals released by an organism that influence the behaviours of
other individuals of the same species are called

(A) Pheromone (B) Insulin

(C) Androgen (D) Steroid

21) Damage to thymus in children may lead to
(A) Loss of antibody mediated immunity
(B) Reduction in stem cell production
(C) Reduction of hemaglobulin content of blood

(D) Loss of cell mediated immunity

22) The following substances are cell inclusions except
(A) Melanin (B) Glycogen
(C) Lipids (D) Centrosome
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23) Mature erythrocyte do not contain
(A) Glycolytic enzymes
(B) HMP shunt enzymes
(C) Pyridine nucleotide
(D) ATP

24) The Golgi complex
(A) Synthesize proteins
(B) Produces ATP
(C) Provides pathway for transporting chemicals

(D) Forms glycoproteins

25) The cholesterol molecule is
(A) Bengene derivatives
(B) Quinoline derivative
(C) Steroid
(D) Straight chain fatty acid

26) Dietary fibre denotes
(A) Undigested proteins
(B) Allplant cell wall components
(C) Plant cell components that cannot be digested by own enzymes

(D) Allnon digestible water insoluble polysaccharides
27) A pathway that requires NADPH as a co factor is
(A) Fatty acid synthesis (B) Beta oxidation

(C) Glycolysis (D) Citric acid cycle
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28) The pH optima of most of the enzyme is
(A) Between 2 and 4 (B)
(C) Between 8to 12 (D)

Between 5 and 9

Above 12

29) The carbohydrate which cannot be digested in human gut

(A) Cellulose (B)

(C) Glycogen (D)
30) Pepsin is

(A) Exopeptidase (B)

(C) Carboxy peptidase (D)
31) Each haemoglobin molecule contains

(A) One Fe atom (B)

(C) Three Fe atoms (D)

32) TSH hormone biochemically is a
(A) Protein (B)
(C) Glycoprotein (D)

33) The structure t-RNA appears as like a
(A) Helix (B)

(C) Clover leaf (D)
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34)

35)

36)

37)

38)

39)

Genetic code is

(A) Overlapping (B) Non-overlapping

(C) Notuniversal (D) Ambiguous

The smallest unit of DNA capable of coding for the synthesis of a polypeptide
is

(A) Operon (B) Repressor gene
(C) Cistron (D) Replicon

In biosynthesis of proteins the chain terminating codons are
(A) UAA, UAG and UGA
(B) UGG, UGA and AGU
(C) AAU, AAG and AGU
(D) GCG, GCA and GCU

The gene which is transcribed during repression is

(A) Structural (B) Regulator
(C) Promoter (D) Operator
The enzyme DNA ligase

(A) Introduces super helical twists (B) Connects the end of two DNA
(C) Unwinds the double helix (D) Synthesis RNA primers

The genetic code operates via

(A) The protein moiety of DNA

(B) The base sequence of DNA

(C) The nucleotide sequence of mRNA
(D) The base sequence of tRNA
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40) Lac operon of E coli contains following continuity in gene sequence
(A) Regulator and operator genes only
(B) Operator and structural genes only
(C) Regulator and structural genes only

(D) Regulator, operator and structural genes

41) Using written conversion which one of the following sequences is
complimentary to TGGCAGCCT?

(A) ACCGTCGGA (B) ACCGUCGGA
(C) AGGCTGCCA (D) TGGCTCGGA

42) Template-directed DNA synthesis occurs in all the following except
(A) The replication fork
(B) Polymerase chain reaction
(C) Growth of RNA tumor viruses

(D) Expression of oncogenes

43) Nucleic acid shows strong absorption at one of the wavelength
(A) 280nm (B) 260 nm
(C) 360 nm (D) 220 nm

44) In humans, the principal breakdown product of purines is
(A) NH, (B) Urea
(C) Uric acid (D) Alanine

45) Translocase is an enzyme required in the process of
(A) DNA replication
(B) RNA synthesis
(C) Initiation of protein synthesis

(D) Elongation of peptides
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46)

47)

48)

49)

50)

The normal function of restriction endonucleases is to
(A) Excise introns from hRNA

(B) Polymerize nucleotides to form RNA

(C) Remove primer from okazali fragments

(D) Protect bacteria from foreign DNA

Which of the following is transcribed during repression?
(A) Structural genes (B) Promoter genes

(C) Regulator genes (D) Operator genes

mRNA is complementary copy of
(A) 5°-3’ strand DNA* (B) 3°-5’ strand of DNA
(C) Antisense strand of DNA (D) tRNA

In the biosynthesis of c-DNA, the joining enzyme ligase requires
(A) GTP (B) ATP

(@)HEIP (D) UTP

The “rho” (p) factor is involved

(A) To increase the rate of RNA synthesis

(B) In binding catabolite repressor to the promoter region
(C) In proper termination of transcription

(D) To allow proper initiation of transcription
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PART - B

This part shall contains FIVE questions, each question carrying ten marks. [5 x 10 = 50]

1)

2)

3)

4)

S)

Explain the salient features and detail structure of Watson and crick model of
DNA. Add a note on its physicochemical parameters.

Describe the cell cycle stages and its checkpoints? How cyclin and cdk operates
to regulate cell populations in the organism.

How the electrophoretic principle applies in analysis of proteins and nuclecic
acids? Describe the process of SDS-PAGE.

Discuss the significance of osmoregulation in plants. How it helps in the survival
of plants under drought stress.

Enumerate the process of cDNA synthesis? How construction of cDNA library
helps in biomedical research.

ofe ofo ofo
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